S ET B 4
FrimiEsk--BAR#EL Fish eye connector

M4 4 iR
r rasky Hgg M12 125
sl LRI , BEE. - -
N 2EBEMKA | WERTHE. | | |
o 3MEERD AR ME. merE s BEFIE
) - 4 SEREREEBEN , IEEXE. M4 : M4 70 : 0.7mm
’." 5 REREFLGE , MR, M6 : M6 100 : 1.0mm
7 M8 : M8 125 : 1.25mm
M10 : M10 150 : 1.5mm
M6~M36 M12 : M12 200 : 2.0mm
M16 : M16
M20 : M20
M27: M27
M36: M36
BEARESH
T | P-M4-70 [ P-M6-100 | P-M8-125 | P-M10-125 | P-M12-125 | P-M16-125 | P-M20-150 | P-M27-200 | P-M36-200
[ FARQ235HITREY , MELEHR , fAE BIN(ATIEMAIK) Steel forging, with copper support
EFER | 8(10)mm | 12(16mm) | 20mm | 25(32mm) 40mm 50(63mm) | 80(100mm) | 125mm | 160(200mm)
#BORY | M4X0.7 | M6X1.0 | M8X1.25 | M10X1.25 | M12X1.25 | M16X1.5 | M20X1.5 M27X2 M36X2
REE ¥ Galvanized
B (kg) 0022 0.030 0.050 0.075 0.110 0.207 0.391 1.15 1.4
RERTE
PK
PA 3PB
|
22y |
#PCHY 41— I 1T EG PA|PB|PC[PD]PE]PF PG PH[ P1 [ Py [PK
+ , fp_ P-M4-70 |53 |14 | 4 |12 |24 | 31| M4ax07 [13 |95] 8 | 7
% o P-M6-100 | 7 | 20| 6 |15 | 31| 41| Mex1 |13 |13 | 11] 9
Y., e P-M8-125 | 9 | 24| 8 |18 |37 |19 | M8x1.25 | 13 | 16 | 14 | 12
) P-M10-125 | 11 | 26 | 10 | 20 | 43 | 56 | M10X1.25 | 13 | 19 | 17 | 14
PD P-M12-125 | 12 | 32 |12 | 24 | 50 | 66 | M12X1.25 | 13 | 22 | 19 | 16
K P-M16-150 | 15 | 40 | 16 | 28 | 64 | 84 | M16X1.5 | 15 | 27 | 22 | 21
P-M20-150 | 18 | 46 | 20 | 35 | 77 [100| M20X1.5 | 15 | 34 | 30 | 25
LPQ LM P-M27-200 | 25| 70 | 30 | 41 [110[146] M27x2 | 15 | 50 | 40 | 37
PJ P-M36-200 |27.5| 80 | 35 | 56 |125|165| M36X2 | 15 |57.5| 50 | 43
BASSEHRES )
HE EFIS4IRLS < SE/SI/SC/DNC/DSBC/CP96 /.. 2%
TG 8 [10[12]16]20]25]32]40]50]63]80[100][125[160[200
PM4-70 | @| @
P-M6-100 )
P-M8-125 ®
P-M10-125 0
P-M12-125 °
P-M16-150 o0
P-M20-150 o0
P-M27-200 )
P-M36-200 o0
www.btbpneumatic.com 1-010





